
  8.000 O.D.  

  4.000  

  1.000    1.000  

  2.906  

  1.500  

  1.125  

  1.125  

  5.375  

  11.500  

  1.000  

A

A

4 9 2 1

8

U/L MTNG. EMBOSS (6)

  1.253 I.D.  

  3.313 I.D.  

  1.500  

10

0.75, 1.00, 1.25, 1.50 CONC. K.O. (3)

  1.630  

  .412    1.156  

0.75, 1.00, 1.25, 1.50. 2.00 CONC. K.O. (1)

0.25 SOLID K.O. (1)

3

12

11

SECTION A-A
SCALE 1 : 1

15
4

6
7

ITEM QTY. PART NUMBER DESCRIPTION
1 1 1005122 SHELL WELDMENT
2 1 1000006 1 1/4" HUB A7515
3 1 1098886 FRONT ASSY.
4 1 1005294 2/0 100A RINGTYPE BRIDGE & BLOCK ASS'Y
5 1 1000075  GROUND STUD CLAMP
6 1 1000039 NUT, 1/4-20, JAM
7 1 1000042 WASHER, 1/4" FLAT SAE 
8 2 1000183 SCREW 12-24 x 5/16
9 4 1156422 SCREW 12-24 x 1/2
10 1 1005222 WIRE SIZE LABEL
11 1 1000064 LABEL, DANGER
12 1 1000061 WIREMAN PAD (RND)
13 0.75 1000157 PAD, 8 X 10 (NOT SHOWN)
14 0.25 1000186 CARTON  4-PER  (NOT SHOWN)

4339-2

Material:

Finish:

Catalog No.:

Title:

Customer:

Drawing No.:

KANSAS CITY, MO  USA

Drawn By:

Scale: NTS
Date:

16 GA. GALV. STEEL

125A 7T RT O 2/0 METER SOCKET

Sheet: 1 of 106/10/19

Tolerances:
Unless Specified Otherwise

X.X
X.XX
X.XXX
X 2

.015

.03

.1

Third Angle

Checked By:
Approved By:

Part Wt.:

REV. DATE DESCRIPTION BY

 
E

 
06/10/19

 
SPLIT FROM DRAWING 4339; ADD 1000157 (QTY. 0.75) TO MATCH M2K; CORRECT M2K BOM WITH FRONT 1098886

 
BU

Monday, June 10, 2019 9:51:55 AM bulrich

9.240

Shear/Die No.:

MILBANK LIGHT GRAY

S4339-YL

MILBANK SPECIAL

BU

4339-2

Square Inches:

LBS. EA.

ECO No.

042344


